Economics 101
Fall 2004

Answer keys for practice questions#6
1. i) From the given demand and supply functions you can find the equilibrium price and the equilibrium quantity in the closed economy.  The equilibrium price is $6 and equilibrium quantity is 12. Therefore, the consumer surplus = ½ (18-6)(12) = $72 and the producer surplus = ½(6)(12)=$36. The total surplus is 72+36 = $108. After opening the economy to trade, the world price is $4. The consumer surplus changes to ½ (18-4)(14) = $98 and the producer surplus changes to ½ (8)(4) = $16. Therefore the consumer surplus increases by $26, the producer surplus decreases by $20 and the total surplus increases by $6.
ii) The quantity demanded at a price of $4 is 14 and the quantity supplied at a price of $4 is 8. As a result, total imports are 6.
iii) When the  tariff increases the price of the good by $1/unit, the price becomes $5 (see figure 1). The consumer surplus changes to     ½ (18-5)(13)=$84.5 and the producer surplus changes to ½ (5)(10) =$25.

iv) At a price of $5, the quantity demanded is 13 and the quantity supplied is 10. Therefore, imports are 3. Total tariff revenue = 3x1 = $3.

iv) Deadweight loss = ½ (1)(10-8) + ½ (1)(14-13) = $1.5

2. If Misuzu works at home, her budget equation is H = 15-3M where H is the home product and M is the market product. If Misuzu works outside her home, her budget equation is H = 10-M. We can draw the budget line as in figure 2. The answer for ii) is shown in figure 3, the answer for iii) are shown in figure 4, and the answer for figure iv) are shown in figure 5.
3. b. There is a shift in the X-intercept from the decrease in the price of chips (the good on the X-axis)
4.b. The consumer’s tastes change in favor of consuming more chips and less fish. You can see that MRSB > MRSA
5. e. The price in real terms for fish in $2004 = 12/1.2 = $10. Therefore, the real price increases by $1/pound.

6. See figure 6 for i) and figure 7 for ii).
7. See figure 8 for i) and figure 9 for ii).
8. i) Figure 10 illustrates Ning’s two budget lines.  The equation for BL1 is 1000 = 100S+50F. 
ii) This is just a matter of selecting a point on BL1 and identifying the amount of food and sports associated with this point.

iii)  The equation for BL2 is 1500 = 150S+50F. It is shown in figure 10.
iv)  This is just a matter of selecting a point on BL2 that is consistent with point A and the properties of normal indifference curves (downward sloping, bowed toward the origin, and not crossing with other indifference curves…) and then identifying the amount for food and sports associated with this point.

v)  Yes, but she will not consume at point A since she can reach a higher level of utility or satisfaction by choosing a different point that is just tangent to BL2.  At A she does not exhaust her income.

9. d. 
10. i) An indifference curve is similar to that in figure 9. You can draw budget line from the budget equation 


40 = 2F + 3S








(1)

     ii) The best affordable consumption bundle is to have the amount of spoons consumed equal to amount of forks consumed and you use up your budget. So set F=S and put this in equation (1), you will have


40 = (2+3)F


F = S = 8

Therefore, you best affordable consumption bundle is to buy 8 forks and 8 spoons.

11. a. Since the price of books decreases, the substitution effect makes Daniel consume more food and fewer books.

12. b. Since both goods are normal goods and a decrease in the price of books brings about an increase in Daniel’s real income, Daniel consumes more food and books.
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